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Dem 9 df qen, 2020-21
[M-2704-C]
MATHEMATICS
(Hindi & English Version)
[Total No. of Questions: 26] [Total No. of Printed Pages: 16]
[Time: 03 Hours] ' [Maximum Marks: 100]
fder —
(1) & gem siard &
(G) TET HHE 1 W5 aAB TGO HER P H¥H B/
(3) T FE 6 W 26 4 Hake Recy 3 14 &)
@) T duv P JTETHar &
Instructions-

(1) All questions are compulsory.
(2) Question nos. 1to 5§ are objective type questions.
(3) Internal options are given in question numbers 6 to 26.

(4) Graph paper is required.
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1 W8 fAecy g I seR gRasna Ry -

(5X1=5)
(i) 12 @ % 8-

(a) 3

by 2

(c) 1

(d) @8 7T
(i) ¥i| &1 AT B —

@) %nrzh

(i) = fig & e & -

(d) (. 0)
(iv) 98Ug 4x* +5x>+2x+1 B °A € —
(a) 4
(b) s
() 3
(d 1
(v) U@ Bn[sr @& =) $107 30° 7 60° & | FHBT SERT B0 81T —
(a) 90° |
(b)y 70°
(¢) 100°
(d) 50°
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.. Choose the correct option and write itin your answer book -
A | ,
(i) p of 12 is -

@ 3 .
(b) 2
(c) 1
(d) None of them
(i) The volume of a cone is -

(a) %nrzh

2 3
(b) T

(c) mr2h
(d) %nrzh
(i) The coordinates of origin is -
(@ (2,0)
(b) (0,2)
(c) (2,2)
(d) (0,0)
(iv) The degree of the polynomial 4x? +5%3 + 2x+ 1is -

(a) 4
(b) 5
(c) 3

(d) 1 ' ‘
(v) The two angles of a triangle are 30° and 60°. Its third angle will

be -

(a) 90°
(b) 70°
(c) 100°
(d) 50°
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v2 Reg wmi o gt :ifde -

(5x1=5)'
Co1 3 o
(i) fag @ 4) F 4 BAT S -4 I - N
N | ,
(iv) 9o & WQF TS HT TG ..., & | [27rh, 20r(h + 1) ]
(v) ST BT SARBTH AT oo, BT 21 (0, 1)
Fill in the blanks -
L1 3
(i) PR PP (4, 1)
(i) The value of abscissa of point (3, 4)iS .......cccvvvenn.... (3,4)
, . 1 .
(i) The value of T00 /S e (0.1, 0.01)
(iv) The total surface area of cylinderis ................. [2nrh, 2nr(h 4 1))
(v) The maximum value of probability is .............................. (0,1)
u3 fr=faRea § ww /s fafae - (5X1=5)

(i) 3x+7 & Waw Tgue T

(i) 5 BT IATTT T 0.26 T

(i) TP Prst &1 8% S & = MR X FaE
(iv) 257,67, 7,24 dgdd 7 &
(v) B gem @1 mRear &1 79 Foee N B ey 2
Write true/ false in the following-
(i) 3x+ 7 is alinear polynomial.
(i) Decimal form of 2is 0.25. '
- (iii) Area of a triangle = base x height.
(iv) In2,5,7,6,7,7, 2, the mode is 7.
(v) The probability of an event may be negative.
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Y4 UAD FT UF WE / g A Ser fRaw —

() R D gz ¥ i aRa (s) B G fiRkay | 1=

(i) 2* B AT T 27 o

(i) fe apier § fea ofid gny §2

(iv) T O yTha WR=1si &1 Arg a9 gRme

(v) & Ried &1 Iotem W R o & wifiear aar 82

Write answer in one word/ sentence - |

(i)  Write the formula of half perimeter (s) in Heron’s formula.

(i) What is the value of 247

(iiiy How many vertices are there in a quadrilateral?

(iv) What is the mean of first five natural numbers?

(v) What is the probability of getting head on tossing a coin?

U5 el el Y - | (51=5)

&) @)

)y -7+12 0.2

(i) 2/10 : -20

(i) 2+3 12

(iv) (-4)x5 1

(v) 36x: 5

Match the columns -

S . g

(i) -7+12 0.2

(i) 2/10 -20

(i) 243 12

(iv) (-4)x5 !

(v) 36x3 >
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U6 RE B W T — 45 54; 51 mg @)
Write in increasing order — 45,54,51,1.9
| e/ OR
IRIE! A H fARaw — 49, 48, 84, 47
Write in' decreasing order - 4.9, 48,84, 47
07 ﬁg(&._—ﬂa(a,a)a%giﬂqﬁaﬁ%%ﬁam (2)
Write the abscissa and ordinates of the points (4, -1) and (3, 8).
Jar/OR
fa agqater % fig (<3, 5) 7 (4, —3) Rerg £2
In which quadrant the points (-3, 5) and (4, -3) lie?
U8 P BT R pEd &7 (2)
What are complementary angles?
Fgar/ OR
feraetl w7 BT THEEY |
Explain the reflex angle.
mo 7 & Fromr arl Ml B g dwE s e | @)
Find the surface area of a sphere of radius 7 ¢cm. |
3r1ar/ OR “\
I T UF D 9% YO SFGA BT G fora |
Write me-formula of curved surface area of cylinder an.d cone.
953 M-2704C] Crese
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9.10 el . |
G?Gﬁf_ %ﬁwwmmam.-amwﬁmm

Give two examples of data that you can collect from your day to day
life. o

+ .
o\ P

T/ OR
WWWWWWW— 2,5, 3 4,1
Find the mean of the given data — 2,5,3,4,1

AN e W w yehie @R -

2
4’ 7

Show on the number line — 3. z
4’ 7

Jgar/OR
Raa wrm=i 4 >, < w1 = firg W-
@ = [ =
@ = [z

@: O
Fill in the blanks with sign >, <or =
DR

| = [ 3
© : 75

y12 y2-2y+ 1@ fow P(0), P(1) 3 P(2) = P |

| Find the value of P(0), P(1) and P(2) for y2—2y + 1.
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3¥ar/OR

A x—1,4x% + 3x2 - dx + k 1 U@ [UrRES &, A k @1 A S B |

If x — 1 is a factor of 4x3 + 3x2 — 4x +k, then find the value of k.

913 UF PP @ P11 2:3: 4 D aqum & £ ot Bope @ @il B0 d B (3)

The angles of a triangle are in the ratio of 2 : 3 : 4, then find all the
angles of the triangle.

dgar /OR

AT i AB 3R CD W fig O R uftess ol €| afd 2A0C: 2COB =
4:5 & &1 0 Do 5T BT

In fig, lines AB and CD intersect each other at point O.
If ZAOC : £COB = 4 : 5, then find all angles.

9.14 ﬁWWW$WWﬁWW%WQ¢W§I a)

If the diagonals of a parallelogram are equal, then show it jg
a

rectangle.

P

i ol X ;

B A A M R T T
g e >
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Jua/OR
quise & aft va wpfs & Rev) R wwen w® wafgafe # o 97
ISt 8% 2 |
Show that if the diagonals of a quadrilateral bisect each other at right

angle then it is a rhombus.

TS ST BRI - 12x2 = 7x 4+ 1 @

Find the factors of = 12x2 - 7x + 1

Jgar/OR

(2x + 1)% &1 YR DI |
Expand - (2x +1)°
Pty ga ¥ g (3, 1). (0. 5). (-3, —5) T (-2, 4) B TV @

Plot the points (3, 1), (0, 5), (-3, -5) and (-2, 4) in a Cartesian plane.

Fyar/OR
a@%a@mﬁmﬁﬁ‘ﬂam%ﬁ?%ﬁaﬁ—‘
(i) fg D= =k
(i) g A @4«

(i) fig B fra gty # &7
(iv) frdwia (-5 —2) grr vearn T fdg)
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See figure and write the answers of the following questions-
(i) The ordinate ofD

(i) The abscissa of A

(i) The quadrant of the point B?

(iv) The point identified by the coordinates (-5, -2)

B4------ ®A
5-_..
4 -4
D@ ————————— 31
21

+-1

CYR— |2

c
+-3
+-t---Op
+-5

g17 quigd & fol wmag s &1 9ds B 600 gy 3

Show that the angles of an equilateral triangle are ggo

I /OR -

each.
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AABC 1 AD 3[at BC @1 & GafRris 21 arafed ' fs AABC AT
B 2 widl AB = AC

In AABC, AD is the perpendicular bisector of BC. Show that AABC is
an isosceles triangle in which AB = AC

A
.
B D C
w18 Rrg e f6 oo ga @ @ 31 Nar w sen 7 a S &1 wwigaia
HAT &) | - @)

Prove that the perpendicular from the centre of a circle to a chord
bisects the chord.

Jerar / OR
frg AR 5 af waimm gar At siaet g’ = W Faika Bior e
g o St avEr 8 &)

Prove that if chords of congruent circles subtend equal angles at their
centre then the chords are equal.
Y19 60° & WV GIAR SADI WG HTS i | @)

Construct an angle of 60°, then draw its angle bisector

sizrar /OR
=t gt @ @ @ Y@ B -
(iy 30° '
(i) 45° _
Construct the angles of the following measurements -
(y 30°
(i) 45°
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920 UF PR @ et s i R ot 8 94, 11 T4, 9 13 9, &) (4)
Find the area of a triangle whose sides are 8cm, 11cm and 13cm.
3ar/OR
W“ﬁﬁﬁﬂﬁwwmﬁ'ﬁ.?mwﬁ-wwﬁw L]
W B ¥ 1 T B @ ey s By |

An isosceles triangle has perimeter 30cm and each of the equal sides
is 12cm. Find the area of the triangle.

u.21 qmﬂaﬂm?aﬁazémﬂ%uﬁﬁrmﬂﬂaﬁ?mmzsﬁﬁ%l
T T R e O o &7 @
The circumference of the base of a cylindrical vessel is 132 cm and its
height is 25 ¢cm. How many litres of water can it hold?
daar/ OR
R oy A Fad 21 . AR R S 28 v, 2 SHH T -
BT | "
-The height and the Slanting height of a cone are 21 cm and 28
respectively. Find the volume of the cone. o
Y22 Wd g —
o o2 | | ()
iy o-2
Simplify -
O 543

(ii) Ty

A/ OR
953 [M-2704-C] Page mm\.__,
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) IRA B -

M 243
(i) -2
Simplify -
0 343
(i) §-3

few g R am uRem i afse -
Find the perimeter of the given figure -

()

Eamafﬁmmmﬁmmﬁw‘rlﬁaﬁwdé%%m
6

8cm
(i) 40& 4.5¢cm

5cm

5cm

4cm
(ii) 5cm
7cm
3cm
yuar/OR

WA @ ER D
s e | R R ot W @ 2w fear?

Rahim exercised

Who exercised for a longer time?

. . . 3
for 2 of an hour while Rohit exercised for ; of an hour.
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W24 & B — BT PRISINT ()
() 0.751x3 )
(i) 0.429x7
Solve it -
(i) 0.751x3
(i) 0.429x7
Szar/OR
Fr @ s Y o1 wan v ge A R -
() 54+ (-11)
(i) (-2) +8 + (-4)
Use the number line and add the following -
(i) 5+(-11)
(i) (-2) + 8 + (-4)
w25 W“ﬁﬁwmm‘wwmu 20,000 T, AT 92 w3 farg (s)
T @y Pl § - "
T | | R [ B9S [ e [ arg —
=g () 9 | 4000 | 2500 | 1000 Ww
S B Profi 7 B R @ o i,
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A family with a monthly income of % 20. 000 had planned the following
expenditures per month under various heads-

ands | Food ™ Educallonl[ Clothes ' Rent | Misc. ISawngs
Expenditure 4000 | 2500 | 1000 ;3500 2500 | 1500
(in ) ’ |

—n e

Draw a bar graph for the above data.
3izar/ OR
frafafaa akaren ard < 5 Ry 1o gl @ g AR

_____

T IFTA | 100125 125n15o] 150-175 } 175-200 | 200-225 | 225-250 55072?5,_]

R - ——

m{’-‘%‘l'?r'ﬁ 45 25 T e

55:125'140155;35i

(i) a7 afErei @ A @ &7

(i) fFa oot sfaee A aRarea W@ afys {27
(i) fu @t sfawra @ aRarar &y 8?7

(iv) o= =1 ot afeRrcedl @ aRara w8 27
(v) wod @it sfavra @ Fre e an @e

Give the answers of the following questions by the given frequency
table. https://www.mpboardonline.com

[Class interval | 100-125 | 125-150 | 150-175 | 175-200 | 200-225 | 225-250 | 250275 |
Frequency 45 25 | 55 [ 125 | 140 ' 55 | 35

(i) What is the range of the class — interval?

(i) Which class interval has maximum frequency?
(i) Which class interval has minimum frequency?
(iv) Which two class intervals have same frequency?

(v) What is the lower limit of first class interval?
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26 TS R B 1000 TR B 9¢ G gRomE} 1, 2, 3, 4, 5 3R 6 P ARG

Frer ol 3 ) e 2o ®)

[ iy 1‘2 3456
. S
RIRCIEG) 179’150 157 149’1?5{190'
| |

muﬁmzﬁumgﬁaﬁmﬁwmaﬂfi‘m

A dice is thrown 1000 times with the frequencies for the outcomes

1,2,3,4,5and6 as given in the following table-

——— ———
-

!Outcornes 1127374576
L L |
|

N N S
;' Frequency | 179 | 150{ 157 (149175190
| ] ‘ Lo

Find the probability of getting each outcome,

a1/ OR
wﬁma%aﬂwoomqmafrwﬁm%@aqmﬁmﬁ%l
ﬁawss,ue:sﬁlmaﬁr?ﬁmﬁrmamﬁﬁﬁm

A coin is tossed 1000 times with the following frequenci
cies:

Head : 455, Tail : 545. Compute the probability for each even;

_________________
-----------------
______
______
——
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